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IL. CAc yéu ciu ciia dé thi nham dap ing CLO
(Phan nay phdi phoi hop véi théng tin tir dé cwong chi tiét ciia hoc phan)
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Trong sb
. Hinh CLO o .z | Ly dit ligu
Ky thire trong Cau bi¢m do ludng
hiéu N¢i dung CLO . thanh héi thi i) .
CLO da.lth phén ) toi da mirc dat
gia danh gi4 PLO/PI
(%)
) 2 3 “4) ) (6) @)
Explain the
fundamental
management concepts
and functions )
(planning, organizing, Trac Cau:
CLot leading, controlling) nghiém 60% 1-40 6.0 PL..
and how the managers
help organizations react
to external
environmental changes.
Applying management
knowledge and Tu 10% | Caul | 1.0
principles to identify luan
and solve business
CLo2 problems through PL..
applied questions and Ty 30% Cau 2 30
case studies in the luan .
course.

Chu thich cac cft:

(1) Chi liét ké cac CLO dwgc danh gid béi dé thi két thiic hoc phan (twong umg nhw da mo ta trong dé cuong chi tiét
hoc phan) Luru y khong dwa vao bang nay cac CLO khong ding bai thi két thiic hoc phan dé danh gid (c6 mét s6 CLO
dige bé tri danh gid bang bai kiém tra giita ky, ddnh gid qua dy dn, dé dn trong qud trinh hoc hay cac hinh thicc danh
gid qud trinh khdc chit khong bé tri danh gid bang bai thi két thiic hoc phan). Truong hop mét s6 CLO vira diege b tri
ddnh gid qua trinh hay giita ky vira dige bé tri danh gid két thiic hoc phan thi van dwa vao cét (1)

(2) Néu noi dung cia CLO tuwong irng.

(3) Hinh thirc kiém tra danh gid c6 thé la: trdc nghiém, tw ludn, di dn, do dn, van dép, thie hanh trén mdy tinh, thuwe
hanh phong thi nghiém, bdo cdo, thuyét trinh, ..., phit hop véi néi dung ciia CLO vd mé ta trong dé cuong chi tiét hoc
phan.

(4) Trong . $6 mirc dg quan trong cia timg CLO trong deé thi két thiic hoc phan do giang vién ra d‘e thi quy dinh (mang
tinh twong doi) trén co s¢ mire dp quan trong cia timg CLO. Pay la co sé dé phdan phéi 1y 1é % so diém t0i da cho cdac
cdu héi thi ding d@é danh gid cic CLO twong vmg, bao dam CLO quan trong hon thi dwoc ddnh gid voi diém sé t6i da lom
hon. Cét (4) ding dé hé tro cho cét (6).

(5) Liét ké cdc cdu hoi thi sé (cdu hoi s6 ...
cac CLO twong ung.

(6) Ghi diém s6 t6i da cho méi cau héi hodc phan thi.

(7) Trong trwong hop day la hoc phan cot 16i - sir dung két qua danh gia CLO ctia hang tuwong vmg trong bang dé do
lwong danh gia mirc do nguoi hoc dat dwoc PLO/PI - can liét ké ky hiéu PLO/PI c6 lién quan vao hang twong ing. Trong
dé cwong chi tiét hoc phan ciing can mé ta ré CLO twong vmg ciia hoc phan nay sé dwoe sir dung lam dit liéu dé do lwong
danh gia cac PLO/PIL. Truong hop hoc phan khéng c¢6 CLO ndo phuc vu viée do heong danh gid mirc dat PLO/PI thi dé
trong cot nay.

hodic tir cGu héi s8... dén cau héi sé...) dung dé kiém tra nguoi hoc dat
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I11. N§i dung cau héi thi

PHAN TRAC NGHIEM (40 ciu héi + 0.15 diém/ciu)

1. refers to how standardized an organization's jobs are and the extent to which
rules and procedures guide employee behavior.

A. Formalization

B. Specialization

C. Centralization

D. Decentralization

ANSWER: A

2. A(n) organization is highly adaptive, loose, and flexible.
A. organic

B. centralized

C. customer-oriented

D. mechanistic

ANSWER: A

3. The line of authority that extends from upper organizational levels to lower levels,
clarifying who reports to whom, is known as the

A. chain of command

B. employee power distance

C. unity of command

D. span of control

ANSWER: A

4. Paul, the HR manager, works in the Townsville plant and reports to the plant manager there,
but he also reports to the corporate HR director in Cityburg. This reporting structure violates
the principle of

A. unity of command

B. chain of command

C. unity of purpose

D. division of authority

ANSWER: A

5. What are the traditional structures that organizations can have?
A. Simple, functional, and divisional structures.

B. Functional, strategic, and business unit structures.

C. Simple, functional, and business unit structures.

D. Simple, functional, and corporate structures.

ANSWER: A
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6. Robert runs a small engineering firm that serves clients worldwide. He has a tiny permanent
staff (3 employees) but hires independent freelancers as needed to handle projects. In this
way, his team can quickly grow to 50 or more engineers depending on the workload. Robert
operates a .

A. virtual organizatio

B. boundaryless organization

C. network organization

D. freelance agency

ANSWER: A

7. The final three activities of the human resource management process ensure

A. that the organization retains competent and high-performing employees

B. that the organization selects and trains competent employees

C. the best compensation packages for the new hires

D. that employees are continuously provided with up-to-date knowledge and skills
ANSWER: A

8. Samantha, a human resources manager, wants to inform applicants about the minimum
qualifications they should possess to successfully perform the jobs they have applied for.
What should she do?

A. She should create a job specification.

B. She should create a job description.

C. She should perform a job analysis.

D. She should perform a job satisfaction survey.

ANSWER: A

9. Joan needs to eliminate some employees for a short while. She and her managers identify
those employees who are not meeting performance expectations and explain that this
termination is temporary but they are encouraged to seek other positions elsewhere. How is
Jane trying to reduce the size of the workforce here?

A. Layoffs

B. Firing

C. Reduced workweeks

D. Early retirements

ANSWER: A

10. In which one of the following traditional training methods are employees made to work
at different jobs in a particular area to get exposure to a variety of tasks?

A. Training by job rotation

B. On-the-job training

C. Mentoring

D. Coaching

ANSWER: A
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11. When Beverly supervises the math test to accounting clerk candidates, the average score
is 65%. But when Carol supervises the same test, the score average is 83%. What does this
indicate about the test?

A. The test is unreliable.

B. The test is valid.

C. The test is poorly constructed.

D. The test is reliable

ANSWER: A

12. is the process of introducing a new employee to his/her job and the
organization.

A. Orientation

B. Selection

C. Staffing

D. Communicating

ANSWER: A

13. The first group meeting is in progress. The five attendees are exchanging contact
information and getting acquainted. This group is in the stage.

A. forming

B. norming

C. storming

D. performing

ANSWER: A

14. For a new project, Eldon forms a team of individuals from various functional departments.
After a few days, Eldon observes conflicts within the group over who will control it and what
the group needs to be doing. This team is now in the stage of group development.

A. storming

B. forming

C. performing

D. norming

ANSWER: A

15. This group should have worked well together. Each of them had at least five years
seniority and had scored well on past performance evaluations. They all knew what needed
to be done, but it seemed they were always in disagreement about something. This group
probably lacked

A. conflict resolution skills

B. independence

C. communication skills

D. sociability

ANSWER: A
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16. In comparison to large groups, small groups
A. are faster at completing tasks

B. have shorter group tenure

C. have longer norming processes

D. are better at obtaining diverse input
ANSWER: A

17. Individuals have the tendency to expend less effort when working collectively than when
working individually. Which one of the following concepts relates most closely to this
behavior?

A. Social loafing

B. Role conflict

C. Role ambiguity

D. Nonconformity

ANSWER: A

18. are teams from the same department or functional area involved in efforts to
improve work activities, though they are rarely given the authority to implement any of their
suggested actions.

A. Problem-solving teams

B. Self-managed teams

C. Virtual teams

D. Cross-functional teams

ANSWER: A

19. Celine feels that the form of marketing their company is using isn't working anymore.
Merle disagrees vehemently. Those in the company who view the conflict over the marketing
strategy as bad and harmful have a(n) view of conflict.

A. traditional

B. relational

C. human relations

D. interactionist

ANSWER: A

20. The final link in the communication process is
A. feedback

B. channel selection

C. decoding

D. encoding

ANSWER: A

21. Noise can occur .

A. in all forms of communication

B. only in nonverbal communication
C. only in written communication
D. only in verbal communication
ANSWER: A
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22. When a person tells his or her manager what the manager wants to hear, which one of the
following barriers to effective interpersonal communication is the person using?

A. Filtering

B. Selective perception

C. Framing

D. Defensiveness

ANSWER: A

23. When a manager asks an employee to complete a task, (s)he is using
communication.

A. formal

B. upward

C. lateral

D. informal

ANSWER: A

24. Jon is the manager of the Finance department. He has to inform the employees in the
department about the introduction of a new analytical software and the resultant changes in
procedures. Which one of the following types of communication does he use?

A. Downward

B. Upward

C. Lateral

D. Diagonal

ANSWER: A

25. Because rumors that flow along the grapevine can never be eliminated entirely, managers
can minimize the negative consequences of rumors by

A. communicating openly and honestly with employees

B. ignoring them completely

C. encouraging an all-channel communication network

D. using filtering wherever possible

ANSWER: A

26. From the firm's perspective, one of the drawbacks to social media is
A. it can consume employee time and undermine productivity

B. it is an ineffective means of communication

C. that most older employees do not like social media

D. that most employees do not use social media at work

ANSWER: A

27. Early research on leadership traits

A. focused on characteristics that might dlfferentlate leaders from nonleaders
B. sought to prove that charisma was an essential trait of leadership

C. focused on behavioral traits rather than physical traits of a leader

D. found consistent and unique traits that would apply to all effective leaders
ANSWER: A
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28. Bernard expects his employees to "check their brains at the door." He does all the thinking,
makes all the decisions, and issues commands to his subordinates. Bernard uses the

style of leadership.

A. autocratic

B. authoritarian

C. democratic

D. laissez-faire

ANSWER: A

29. Fiedler assumed a person's leadership style was
A. fixed

B. democratic

C. relatively flexible

D. contingent upon the situation

ANSWER: A

30. Chuck manages the front-end crew at a fast food restaurant. For most of his crew, this is
their first job so they have very few job skills but also seem reluctant to perform. In this
situation, Chuck should use the style.

A. telling

B. selling

C. participating

D. delegating

ANSWER: A

31. Adrienne receives more attention and information from her supervisor than some of her
coworkers. Because she feels "special," she puts more effort into her performance and scores
higher on her evaluations. According to LMX theory, Adrienne is a

A. member of the in-group

B. naturally high achiever

C. protégé of her supervisor

D. task-oriented employee

ANSWER: A

32. Tamera is the person employees go to when they need help with difficult work problems,
as with software applications. Tamera holds power.

A. expert

B. reward

C. coercive

D. legitimate

ANSWER: A
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33. Shaun is the manager of a warehouse operated by a department store. He is trusted by his
subordinates because he shares information freely, is reliable, and shows extremely good
judgment while handling any type of crisis. Shaun is also known to be very protective of his
staff. Which dimensions of trust is he exhibiting?

A. Consistency, loyalty, and openness

B. Competence and openness

C. Integrity and loyalty

D. Loyalty, consistency, and competence

ANSWER: A

34. Which one of the following sources of information for measuring performance is time
consuming, obtrusive, and subject to personal biases?

A. Personal observations

B. Oral reports

C. Statistical reports

D. Written reports

ANSWER: A

35. The comparing step in the control process determines

A. the variation between actual performance and the standard

B. the variation between actual performance and an external benchmark from a noncompetitor
C. a company's relative position in the industry in terms of performance variances

D. a company's relative position in the industry in terms of the standards used

ANSWER: A

36. Mark recommends that the managers at Statco should identify how and why performance
has deviated beyond the acceptable range of variation, and then correct the source of the
deviation. Here, Mark is recommending

A. basic corrective action

B. concurrent control

C. immediate corrective action

D. feedforward control

ANSWER: A

37. Managers could choose to do nothing when :

A. the difference between actual performance and standard performance is low and acceptable
B. an employee fails to attain the standard because of internal problems

C. performance standards are acceptable, though the employees have not attained it

D. the variance observed from the expected performance is caused due to unrealistic standards
ANSWER: A

38. Charles wants to prevent problems before their occurrence. Which one of the following is
the most desirable type of control to achieve this goal?

A. Feedforward control

B. Feedback control

C. Preventive control

D. Proactive control

ANSWER: A
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39. At Contours, Inc., quality auditors pull one part from the production line every 15 minutes.
These parts are measured against the production print; any variation that is beyond acceptable
levels is reported to the machine operators. Contours, Inc. is using control.

A. concurrent

B. feedforward

C. feedback

D. concentric

ANSWER: A

40. Which one of the following best fits the definition of organizational performance which
managers should control?

A. Mr. B's Pizzeria sold an average of 18 pizzas per hour on Saturday night.

B. The customer ordered the Victorian Rose interior décor.

C. Colin arrived 15 minutes early for his shift.

D. The shipment of parts arrived two days late.

ANSWER: A

PHAN TU LUAN (02 cdu héi; 4.0 diém)

Céu 1: (2.0 diém)

Message Message Message Message

Source = (1) — (2) — (3) ..... -3 Receiver

T Message

(4o~

The Communication Process

a. Fill in the blanks in the communication process (0.5)

b. Read the case and answer the question below:

Adam, a department manager, needed to announce a change in office hours from flexible
schedules to strict nine-to-five days. While on a business trip, he held an online meeting on
Friday afternoon to explain the change. However, the meeting faced several issues: poor
internet connection disrupted Adam’s message, team members argued and asked multiple
questions, and emotional reactions, like frustration and resistance, caused distractions. Adam
also provided little context about the change, which led to confusion. The next day, Adam
realized that most team members were still unclear about the new policy due to the confusion
during the meeting.

*nine-to-five days: working day from 9:00 am to 5:00 pm

*frustration (n): sy thit vong

*resistance (n): sy phan doi, chéng cu

*distraction (n): su xao lang

Question: What types of communication noise affected Adam’s meeting, and how did
they impact the communication process? (1.5)
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Cau 2: (2.0 diém)
Read the case below and answer the following questions:

Case: Challenges in Launching "Holiday Fizz"

Ember & Ice company decided to launch a new drink, "Holiday Fizz," for the Christmas
season. The project was assigned to the Research and Development (R&D) department, with
a team led by the R&D manager and three other members. The team worked carefully, testing
various recipes to create a festive drink with a good taste. However, they faced significant
challenges.

First, despite achieving a tasty formula, they struggled to design a visually appealing, festive
package aligned with the Christmas theme. Additionally, they encountered difficulties in
developing a product launch strategy and addressing financial issues such as production costs
and profit margins. These challenges caused delays in finalizing the product.

Second, the team leader was too busy with other work to guide the team regularly, leaving
them without strong leadership. Team members also had trouble balancing their usual tasks
with the extra work for the project. To make things worse, the company gave them limited
financial and human support, so the team had to cover many project costs by themselves.
These factors hindered the team’s progress and made it challenging to achieve the project
goals efficiently.

* recipe (n): cong thirc

a. Some common types of working teams include problem-solving teams, self-managed work
teams, and cross-functional teams. What type of team does the R&D team represent? Explain
why?

b. How can Ember & Ice make this team more effective with higher performance?
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PAP AN PHAN TU LUAN VA THANG PIEM

Phin ciu héi \ Noi dung dap an Thang diém | Ghi cha
I. Tric nghiém 6.0
Caul-40 0.15 x40
II. Ty ludn 4.0
Cau l 1
Phén a (1): Encode 0.5

(2): Channel
(3): Decode
(4): Feedback
Phan b The meeting was disrupted by: 1.5
1. Technical Noise: Poor internet
connection made Adam’s message
unclear.
. Psychological Noise: Emotional
reactions like frustration distracted
participants.
. Semantic Noise: Insufficient
context created confusion and
misunderstandings.
These issues prevented effective
communication, leaving the team
uncertain about the new office hours
policy.
Cau 2 2
Phin a The R&D team represents a functional 1
team (0.5) because all members belong
to the same department and work
together to achieve a specific project
goal. (0.5)
Phin b The answer will vary but should cover 1

some of the following:
e Clear Goals: Clearly define the team's

goals, including specific objectives,
deadlines, and performance metrics.
Ensure that all team members
understand and align with these goals.
Relevant Skills: Assess the team's
skills and knowledge gaps. Provide
necessary training or resources to
develop the required skills.

Mutual Trust: Foster open
communication and trust among team
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members. Encourage collaboration and
support.

e Unified Commitment: Align the
team's individual goals with the overall
project objectives. Motivate team
members and  celebrate  their
contributions.

e Appropriate Leadership: Provide
strong and consistent leadership.
Empower team members and delegate
responsibilities.

¢ Good Communication: Establish clear
communication channels. Encourage
open and honest communication.

e Internal Support: Foster a positive
and supportive team culture. Provide
opportunities for team building and
social interaction.

e External Support: Advocate for
adequate resources and support from
the company. Build strong relationships
with stakeholders to secure external

assistance
Piém tong 10.0
. TP. H6 Chi Minh, ngay 01 thang 12 nam 2024
Nguoi duyét de Giang vién ra de
o
TS. Nguyén Quynh Mai Hura Thi Ngoc Quyén
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